‘?,?_iInwa.q. Trmsﬁrmﬁmd‘ Tmn&‘ﬁbrms ot bﬁri\sziua.}, ; .
Fond +he fmf.u-u_ Lm?hmhnns&rm of s 'FD[{MI:‘\:S' :

et -3(2; J(*E

a7 A gdﬁlg
i i
s fs?j o ?stj

gt~ 4 ¢34+ L 0
3! S
Vg TR 6 W i 5
; i—;g 5]'4—2_% 2 sty
= i W B 7/ VA
s*+2) ?(-E)(s +a>§
sl e ? -4 ;"’*i Z §
str(R) D {7 s24(Z)
= Cos({zt) = L sinliZt).

{2



ﬁ.i"g 5 %
(s-2¥s-3Ys-6)

S S0 EPN . D
(s-2)5-2Y5-6) gai. B3 mel  Eed LA eag
o= Als-3)s-6) + B2 s-6)+ C(s-2)(s-3),

sz 224A =>F A

k3 A3 =5 -l“_l*:‘a,

Sl (=uC =H7°C

sna“*? s g:;-'gi < b gt

(s-2)(3-3X5-6) S=3 5% s-4

& 4 el W 8 g -£7¢ g4%of"§.;_
25-2_ -3 .':*LE
:,Lez‘t— AT 3N eu-

7z i
il f im_ﬁ_____
(sx2)(g2ad)
=l e
2 = A +BatC = + Hs+7
Cor)(stad) S+ st a2 st+4

&= Als*+4) + Be(s+2)+Cls+2).
S==2 =2=gA => A=z =]
h!
s=o 0 =24A+2C =-1+2¢ =>C=]1
2

gz) | =SA+3R+A0 = 5(—J_) 3B +$(¢3 =0T |
8] 2 4



2 |
I ,__.:_,_.S = a'f 8- fj S+ 2 j
Le244) 5244

=jj ?szg +:::I :—ig jil?-s:ij

-l g k) coslzt) 41 J'}?(Jj __L_)§
4 4 2 2 (szw
% ol ottt | E 2 §
S%44

Bl
4 4 o

=al 4" -}"'..L CJ:E.LZ%} +1 sin [Z’t)
5 4 ;i

o~

s ‘é g i
st rsgiy (&% +i}(,a +4)

los43 = AstB + Csi D =284l - 223

()Y 44)  sx+  str4 SE4l s+4

bei2 = As(s2+4 )+ B(s®4) + Cs(sH40) + b@zﬂl

S0 3= 4R +D

ez2l  12:4A3=C2i W= SW-3) = -Gi 0 ~3D => C=z-2

f:r“ foi:ii*" Au(3)+3B = 3 A+ 3R s Jig g

=J75 25p) - 254
(b"-l-ﬂ(.s Q)E e+l gt+4 g
3 - -1 = | i |
. Zfé,,;i it

 FlcoslE) ¥ sinih) - 2eos(zt) - ( )‘{
s'+4

= 2ces{t) tsinld) = 2cos (£) ~L sin(2t).
2




Uy Yha ch?ic-.:.n_‘{'mﬂa&rm fo selve tha gb[fuwina VPs.
y; 3'-3--2:;.».,5.(5’:3 4lo)=0

.c?f%\{'-xf % = T3 2cost5t)§

Jﬁy’g—ﬁy%:ziicmsﬂg

V@) -y -Y(s) =25

st+28
(s-0Y(s)= 25
8425
Nis) = 2¢
| (s-1)($425)
CRET . Ty =_L[..L-*__§___+_§_5_}
(s~1)(st+28)  S-1  S%2s 13131 gmas  s*4eS

2s =AG™25) + Bsls=1) +C(s-1)
sz) 2226A =>A=1

_ 13
sS=0_p=23A-C=25-C => (=25
3 13,
=50 1oi= BSXSi-1) +0(5¢-) = 23R -53 +5.C=C
=> -25B-C =0
~2sB-25 =0 =5 B==l
2 i3 I

Su NIGS '*JI' - : Y(s)S

'-'o‘f,'..'g_i_[_.l. A SR b ]
1313~ s%42S  s*+25

2l J"'Z_L g -J_I'?._i_ E o oS5
13 S+ Y 1% s™25 13 3*425
= .L,eg,‘E -1 cos(st) +5 sin(ST)

1B 18 13




1] i t % 1
3_‘{\," 2 (e~ 5(.::) SRR £ EX
e TR ML S ;f‘bfaeaf“ﬁe i
a’sgs 4y’ =637e36 ~35¢ 7§
s*Yis) - 5\{[5} \i'{a] "t(a’fis} Yfaﬂ CL

g% S+l
(s3-4s ) ~s 4144 = o -3
-3 St
ss-NVs =6 -3 +5-5
Sc8 54|
T R S - S W

s(s~3)(s-4)  s(s-9)s+1) 54 s(s-4)
= (s+1)-3(s-3) 563)st) + |

s(st1)s-3)(s-4) s-4
=516 -35+9-5(s"-25-3) + |
S(s+)(s-3Xs-4) 5-4

=D 4138430 4+ [
(a-1)(s-3)s-4) s-4

Ss4B3s430 = A +B +L +D = :E_ + __"3,_5_’ "'_%_ +i
ols-Ys-a)s4) s S 53 sS4 S g g3 5-¢4
~ S+ 135130 = Al-1)(s - 3)(s-4) + Bs (s3)s4)+ (s(s=1 )(s-4 )+ Ds(s-1)(5 - 3)
sz 30= —j12A= A=-5
2
s5=) 35=(B => R=/(
' 5




S=3 24 =-18C => C=-4
a3

8= 2=12d = D=
©

ESMTEF ek B (O13
j?__fi Lk u_i
= S 83 s-4 s-4
:—sf"zf_lj rle a"'}f_i_ ( +1Df"?5.._f_ g -4 a""j -
Z _Ls.d .2 84\ & Jeg N a $-3
’*‘_5_+i_{oe£+1£%'ia?’é
Z 2 b 3




